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GENERAL INSTRUCTIONS

Examinee is directed to read carefully the following
instructions :
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. Examinee must write his/her Roll Number in the

specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling in the Roll Number, the examinee has io

put his/her signature on the Answer Sheet and also fill
other required details like Name, Roll Number, Question
Bookiel code, elc. as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinee,
his/her Answer Sheet will not be evaluated.

. For each question, there are four altemative answers,

out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

. There are 40 (37+3) pages in this Question-Booklet

including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

. This Question Booklel contains 150 questions from
following subjecis :
{1) Physics Q. Nos. 1-50
{2) Chemistry Q. Nos. 51-100
(3) Biology Q. Nos. 101-150

. Each question carries 1 mark and % mark will be

deducled for each wrong answer.

. In case of any discrepancy belween the English and

Hindi versions of any question, the English version will
be treated as final/authentic.

. Possession and use of electronic devices such as

Calcutator, Cellular Phone, Digital Diary, Log Table,
Pager etc., are restricted duting the examination.

- Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

. During examination the examinee will not be allowed

to leave the examination hall till the END of the
Examination.
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1. Two fixed point charges + 4e and + e

PHYSICS

units are separated by a distance a.
Where should the third point charge

be placed in between them to be in
equilibrium ?

A) At a distance % from + de charge

B) Ata distance ;'; 2 from the charge
+ 4e

C) Ata distance %a from + 4e charge

D) At a distance L from the charge
+ 4e 4

. Charge Q is distributed to two different

metallic spheres having radii R and
2R such that both spheres have equal
surface charge density. Then charge on
larger sphere is

4
A £Q

Q
B) &

3
C) =
)SQ

D)

Hlon
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3.

Two identical capacitors 1 and 2 are
connected in series to a battery as
shown in the figure. Capacitor 2 contains
a dielectric slab of dielectric constant K.
Q, and Q, are the charges stored in
the capacitors. Now the dielectric slab
is removed and the corresponding
charges are Q; and Q; , then

el |
1 2
|

||_

E ’

a)! QffisKir1 2 KM
Q, K Q, 2
Q, _K+1 o S K
Q, 2K JfQE2

. The electric potential at a point in free

space due to a charge Q coulomb is
Q x10" V. The electric field at that point
is

A) 4rne Q x 102 Vm™!
B) 12ne,Q x 10%° Vm™'
C) 4ne,Q x 102 Vm™!
D) 12rne,Q x 102 Vm~'

. The resistance of a 10 m long wire is

10 Q. Its length is increased by 25%
by stretching the wire uniformly. Then
the resistance of the wire will be

A) 1250 B) 14.5Q
C) 156 Q D) 18.6Q
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A) 4ne Q x 102 Vm™’

B) 12re,Q x 102 Vm™!

C) 4ne Q x 102 Vm™!

D) 12re,Q x 102 Vm™!

. 10 . T2 TH o 1 Sfaly 10 Q B1 FER

TS A ) GO E9 Y Giea 25% Fa1
8 &1 AR 1 WY @

A) 1250 B) 145Q
C) 156 Q D) 186 Q
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An electric field is given by
E =(yi+xj)NC™".The work done in
moving a 1C charge from

T =(2i+2))mtorg = (4i+])m is

A) +4J B) —-4J

C) +84 D) zero

. There is a current of 4.8 ampere in a

conductor. The number of electrons that
cross any section normal to the direction

of flow per second is
A) 10" B) 2x10

C) 3x10" D) 7x10®

Magnitude of drift velocity per unit
electric field is

A) Current density

B) Current

C) Resistivity

D) Mobility

The colour code for a resistor of
resistance 3.5 kQ with 5% tolerance is
A) Orange, green, orange and gold

B) Orange, green, orange and siiver
C) Orange, green, red and silver

D) Orange, green, red and gold

Page No. 5

. GHIIgAE E = (yi+ xj) NC ' RITE1CH

AR T, =(2+2)m B 1 = (4i+])m

a6 o 9§ R T e @
A) +4J B) — 44
C) +8J . D) 3=
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10.

11.

12.

What is the potential difference between
the points A and B in the circuit diagram
shown in figure 7

20V
[A
5 QEE =80
B o]
ioQz 240
-
A) 20 Volt B) 0, Volt
3 3
20 10
C) == Vott D) —— Volt
N NG

When a current of 2 A flows in a battery
from negative to positive terminal the
potential difference across itis 12 V. If
a current of 3 A flowing in the opposite
direction produces a potential difference
of 15 V, the emf of the battery is

A) 126V B) 132V
C) 135V D) 14.0V

With a potentiometer, null points are
obtained at 140 cm and 180 cm with cells
of emf 1.1 V and one of unknown value
respectively. The unknown emf is

10. f & R Ty oftww sma # fagedt

SQ;'

100

11.

12.

A 3R B & o9 e e 2 7

20V
[A

vy
AAR
¥y
(-]
2

Ty
I""
N
<

i

A) 20

10
—- Volt B) — Volt
3 3

-12 Volt

N

C) 20) Volt D)

Nz

el e &) T KU | U O O 2 A 6
forega el & &Y et e 12 VRI IR @&
e 3 A Rgdig R A e 15 Ve
Rnvaiat s w2, @ o 5 foves R

A) 126V B) 132V

C) 135V D) 140V

T DR & A, 1.1 V 3R U A9
foies UW 9l W ¥ 140 §. ofi. ok
180 &. . T W e fig W 81 3|
19T $TICE B

A 11V B) 1.8V A) 1.1V B) 1.8V
C) 18V D) 141V C)18V D) 141V
Page No. 6 8 PM PCB
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13. An infinitely long conductor is bent into
the shape as shown in the figure. It
carries a current | and the radius of the
circular loop is r. Then magnetic field at
the center of the loop is

>~ Ny
g 7]

A) zero

c) Hol (+1)
2nr

B) infinity
D) M .
2nr (1)

14. In a current carrying long solenoid,
the magnetic field produced does not
depends upon
A) Current flowing
B) Number of turns per unit length
C) Radius of the solenoid
D) All of the above

15. A circular loop of area 0.01m?2 carrying
acurrent of 10 A is held perpendicular
to a magnetic field of intensity 0.1 T.
The torque acting on the loop is
A) Zero B) 0.01 Nm
C) 0.001 Nm D) 0.8 Nm

16. An electric buib rated 220 V, 100 W is
connected in series with another bulb
rated 220 V, 60 W. If the voltage across
the combination is 220 V, the power
consumed by the 100 W bulb will be
about
A) 26 W

C) 60 W

B) 14 W

D) 100 W C) 60 W

13. TF 3Fd &= wTers &t o 3 fomm srgan
3T o AT TN B 3 | R @ sfger

AT i 4 ¢ 31 5 % g Wi 8
2

> ¥

g 71

A) T3

ol ol
C) o (m+1) D) o (r-1)
14. e fergga o wift uftemiere  Seaa e

g wheltadiwar

A) sedfifage .

B) Wi $e1s was gt Y W

C) uftmferent Y oo

D) I asft

15. 10 A faga amem 0.01m? 89%a #1 o
FAERI YA 0.1 T Y &7 Te7a1 & oaad
HECR R Gk P uUESE
A) ™ B) 0.01 Nm
C) 0.001 Nm D) 0.8 Nm

16. 220 V, 100 W =1 s fefeqa sieel qat 220 V,
60 W % T &Il % |1 SEen § et TR R |
Ife 38w & e 220 V R, 6 100 W
TR et EI T T i
A) 25 W B) 14W

D) 100 W
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17. A potentiometer wire 10 m long, has
a resistance of 40 Q. It is connected
in series with a resistance box and a
2V storage cell. If the potential gradient
along the wire is 0.1 mV/cm, the
resistance unplugged in the box is

A) 260 Q B) 760 Q
C) 960 Q D) 1060 Q

18. In the loop shown, the magnetic
induction at the point O is

'R,-R, |

RR,

1ol
8 e -
1ol [Ry+R, |
8 | B4Rz

B)

1ol [ RyR;
©) 8 |R;+R;

D) Zero

19. Ampere’s circuital law can be derived
from
A) Ohm's law
B) Biot-Savart law
C) Kirchoff's law

D) Gauss law

20. When 0.005 A current flows through a
moving coil galvanometer, it gives full
scale deflection. It is converted into a
voltmeter to read 5 V using an external
resistance of 975 Q. The resistance of
the galvanometer in ohms is

A) 5 B) 10
C) 15

D) 25 C) 15
A Page No. 8

17. U i a8 10 m @& 3R 40 O
wferderanen &1 afe 38 U ol s s 2 vV
i TTgRY T T TG 1§ AT ST § AR AR H
v T 0.1 mV/em &, 9 a8 3 Sl g
A) 260 Q B) 760 &
C) 960 Q D) 1060 Q

18. ?ﬁﬁmwﬁgomﬁaﬁaw

20. @ Ueh =Te] Fecl! eamiet § 0.005 A =hi
forga weedt €, T 9% O A faaer feam

BITW 975 Q%wuﬁﬂuwmaﬂ%%q
|

5 V & e ¥ T diceHie H seen T
Teamdier =1 wiede IWAR |
A) 5 B) 10
D) 25
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21.

22.

23.

24.

Two wires of same length are shapedinto
a square and a circle. If they carry same
current, ratio of magnetic moment is

A)2:=n B) n:2
C)n:4 D)4:=n

Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air, the
resultant magnetic field at a midpoint
the dipoles is

A) 4/5x10°°T
B) 2¥5x10°5T
C) 4J5x107T
D) 25x107T

P, Q and R are long straight wires in air,
carrying currents as shown in the figure.
The force on Q is directed

P vQr kR

20A | 40A 60A

A) to the left

B) to the right

C) perpendicular to the plane of the
diagram

D) along the current in Q

The magnetic flux linked with a coil of
N turns of area of cross section A held
with its plane parallel to the field B is

A) % B) NAB
NAB
C) 4 D)o

Page No. 8
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22. 71 # ghell 3 wH-qw ¥ w @ g

2 Am? gorehia ST & 3 T S JEehi
fageia 2 m A gt @ T E) R &
ush 7 foig R aRomf gaehi &

A) 45x1075T
B) 2J5x10°5T
C) 4/5x107T
D) 2/5x107T

23. P, Q3 Rarg & ool et R 3k Rrrgem

e o1t 31 Qmaw frdfima 24

P Qf W.R

20A | 40A 60A
A) @
B) 3¢
C) 3™ & a1 & Tead
D) Q¥ forga & @iy

24, A STITEERIE 8% i N GHTE! areft freeh

& 61 % &7 B o gUMIT gah w2
A) '—“? B) NAB
C) NAB D} O
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25.

26.

27.

28.

A coil having an inductance of 0.5 H
carries a ctirrent which is uniformly
varying from zero to 10 A is 2 second.
The emf (in volt) generated in the coil is
A) 10 B) 5

C) 25 D) 1.25

The figure shows a LCR network
connected to 300 V AC supply.
The circuit elements are such that
R=X =X,=10Q.V,V,and V,
are three AC voltmeters connected
as shown in the figure. Which of the
following represents the correct set of
readings of the voltmeters ?

V1 V2 Vs
—(DT T
L R

R L C
=°

300V

A) V, =100V, V, =100V, V,=100V
B) V,=150V,V,=0,V, =150V

C) V, =300V, V,=100V, V, =100V
D) V, =300V, V,=300V,V,=300V

A transformer with efficiency 80% works
at 4 kW and 100 V. If the secondary
voltage is 200 V, then the primary and
secondary currents are respectively

A) 40A, 16 A B) 16 A, 40 A
'C) 20A,40A D) 40 A, 20 A
The rms value of the electric field of the

light coming from the sun is 720 NC-'.
The total average energy density of the
electromagnetic wave is

A) 3.3 x 109 Jm3

B) 4.58 x 108 Jm™

C) 6.37 x 102 Jm™

D) 81.35 x 1072 ym™

Page No. 10

25.

26.

27.

28.

0.5 H 3101 aredt Tk el B ue foea @ <t
T 9 W 2 Hs A I T 10 A 7 fafau

&t 21 deeh 8§ 3 SUNUE (volt & ) #

A) 10 B) 5
C) 2.5 D) 1.25
fa= 1 300 V AC a1qfd & @ LCR Feash

w1 fr@rn man 21 wfmy 9@ 3@ TR E,
R=X =X,=10Q1V,, V, 3 Vv,

AC dieediet fom 3 fe@me T arger € B
Frfriaa 1 A w-a1 dicetied & 3 =l
el g g9 8 ¢

V1 V2 Va

R L C

(AN

NG

300V

A) V,=100V,V,=100V,V,=100V
B) V,=150V,V,=0,V, =150V

C) V,=300V,V,=100V,V, =100V
D) V,=300V,V,=300V,V, =300V
80% FHrerdl A1 T JEHEHL 4 kKW 3R
100 V W 1 =t 81 afe s aieew
200 V 3, 9 wraifirs aiR fidiass g s &

A) 40 A, 16 A B) 16 A, 40 A
C) 20A,40A D) 40 A, 20 A
T B T Tl WehrE o fSRIA &9 I rms HH

720 NC-' ¥ for geehi ot it g1 fga
Fol O §

A) 3.3 x 10 Jm™

B) 4.58 x 10 Jm™

C) 6.37 x 10 Jm™3

D) 81.35 x 1072 Jm™3
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28.

30.

31.

32.

An object placed infront of a concave
mirror at a distance of x cm from the
pole gives a 3 times magnified real
image. If it is moved to a distance of
(x + 5) em. The magnification of the
image becomes 2. The focal length of
the mirror is

A) 15¢cm
C) 25cm

B) 20 cm
D) 30 cm

A vessel of depth (2d) is half filled
with a liquid of refractive index H,.
The remaining upper half is filled with
another immiscible liquid of refractive
index p,. The apparent depth of the
vessel, when viewed normally is

A g[ﬁﬂ B) 2d[1+i}

Ky H;
c) d[i,,i} D) 3[1@]
M M dlm, K

A convex lens of focal length 0.15 m is

made of material of refractive index y .
When it is placed in a liquid, its focal
length is increased by 0.225 m. The
refractive index of the liquid is

N/ B) 5,
o % D) %

In Young's double slit experiment, the two
slits are 0.2 mm apart. The interference
fringes for light of wavelength 6000A
are found on the screen 80 cm away.
The distance of fifth dark fringe from the
central fringe will be

A) 6.8 mm
C) 9.8 mm

B) 7.8 mm
D) 10.8 mm

Page No. 11
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A) 1591, B) 20d¥.+.

C) 254.4. D) 30§,
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df1 1
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Mo Ha Hy Ko

L 211 1
U 39 w9 el wiehet wieTg 0.15 71, 2,
%%mﬁqﬁaﬁwﬁﬁm%umsﬁ

Th 59§ @1 S R, o g0 i o
0.225 4t. ¢ STaT 8 | 59 1 SUTaTF &

WA B %
c) % D)%

I 3 faftssl el 3 < foog 0.2 Wil R )
6000A ToereeaT  wahre1 By =AfeeRtor Fmert
wee W 80 F . gt fireret | it wmem &
uferft Sf0 R B E
A) 6.8 #t 1. B) 7.8 4.4
C) 9.8 . D) 10.8 .z,
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33.

35.

36.

A diffraction-patter is obtained using a
beam of red light. What happens if the
red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart
D) Bands disappear altogether

. The moving proton and a-particle are

subjected to the same magnetic field, so
that the radii of their paths are equal to
each other. Assuming the field induction
B is perpendicular to the velocity vector
of the a-particle and proton, the ratio of
de-Broglie wavelength of a-particle to

that of proton is
1
B )%

W/
C) 1 D) 2

At a certain time, a radioactive substance
contains 2 x 10 atoms andits disintegration
rate is 3 x 10'° atoms/second. When
2 x 10'S atoms are left to decay, its
disintegration rate will be

A) %xﬂ)"’ atom/s

B) 0.693 x,3 x 10" atoms/s
C) 3 x 10% atoms/s
D) 3 x 10'° atoms/s

33.

34.

35.

T T JRTe o TR <t Wt e farae
Yot STt foram STTaT & | =R 2 AT STt e
=1 i A wfceenfud s fegrsm 7

A) F15 gitEd i

B) fererd ught @il & Sot sk we @y
g swh

C) wfgat =it sit g-gu & st

D) ufgal e @y e & st

T Iferefiel T 3R o~ i 9o oo
a7 § W R, e 3 9y i et
TH-GEHIHAE | T A g R e I B,
o~ 3T WA % I AW F o 8,
o~ ht H-srel FeTeHT F e 4

3T &

A B) )%

0] 4] D) 2

U G0 W U e uareh 1 2 x 1020 5]

¥ afit 3Rt farwrea @ 3 x 1070 wom/Eee
2 1 9 2 x 105 go) fawed, sg @ & @
Toere = Bl

A) %xw‘" e /e
B) 0.693 x 3 x 10" TW[/dFS

C) 3 x 10° T /&S
D) 3 x 10" wAW/dF

The total energy of electron in the ground 36. TS T T ETESISH G} & ToiaeH ol T
state of hydrogen atom is —3.6 eV. The S5 -3.6 eV & | wom Sofee foufy ¥ =
kinetic energy of this electron in first . &

excited state is T R Tl &

A) 6.8 eV B) 13.6eV A) 6.8 eV B) 13.6 eV

C) 1.7eV D) 34¢eV C) 1.7eV D) 3.4 eV
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37.

38.

39.

40.

41,

The half life of a radioactive isotope X is
50 years. It decays to another element
Y which is stable. The two elements
X and Y were found to be in the ratio of
1:15 in a sample of a given rock. The
age of the rock was estimated to be
A) 150 years B) 200 years
C) 250 years D) 100 years

The wavelength of first line of Lyman
series for hydrogen atom is equal to that
of the second line of Balmer series for a
hydrogen like ion. The atomic number
Z of hydrogen like ion is

A) 3 B) 4
C) 1 D) 2
An AC supply of 230 V is applied to

a half wave rectifier circuit through a
transformer of turn ratio 10 : 1. Find the
output DC voltage. Assume the diode
to be ideal.

A) 230V B) 5.2V

C) 104V D) 208V

What will be the input of A and B for the
Boolean expression (A_ﬁ).(ﬁ) =17
A) 0,0 B) 0,1

C) 1,0 D) 1,1

The light ray is incidence at an angle
of 60° on a prism of angle 45°. When
the light ray falls on the other surface at
90°, the refractive index of the material
of prism p and the angle of deviation §
are given by

A) n=+2,6=30°
B) p=15,5=15°

J3

=——’8=3 e
C) un 5 0

I3
==, 6=15°
D) u >
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37.

38.

39.

40.

41,

@ e i X ) ey 50 9§ % |
T UF 311 9 Y o Toutea aar & <) f@R
Rl mAs R iddaa Xaky
1:15 % 3779 & o s € | w2 A a7y
__ sgmfaREd

A) 150 9§ B) 200 a4

C) 250 = D) 100 =
HESEL i A @ H yuw @
ﬁaﬁ%amm%#wm
el s faeta 3@ o a0eR 2 | Srgeem 9
HE I EE Z R |

A) 3 B) 4

C) 1 D) 2

10 : 1 YATE 377UTA & T G & oream
8T arefer fsesmmdl aitwe s 230 VY
AC g it STt @ | fedh =t avrest o
¥ DC Fices S 7 L |

A) 230V B) 5.2V

C) 104V D) 20.8V
feraw athrafda (A +B).(A-B) =13 R
A 3TR B T ATeeh 791 8A 7

A) 0,0 B) O, 1

C) 1,0 D) 1,1

=hIVT 45° o T 3 9T 60° & T I W T
yehret fortor aTTafera it & | S srenr ot o
3 7% 90° W FRelt & it T 1 3 v
eI Gt 37 e Fvr & &

A) B=+2,5=30°

B) u=1.5,5=15°

3
=1f—,5=15°
D) k=43

8 PM PCB
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42,

43.

44,

45,

48.

A ball is dropped from the top of a
building 100 m high. At the same instant
another ball is thrown upwards with a
velocity of 40 ms™ from the bottom of the
building. The two balls will meet after

A) 3s B) 2s
C) 255 D) 3.5s
Two balls are projected making angles of

30° and 45° respectively with horizontal.
If both have same velocity at the highest
point of their path, then the ratio of their
horizontal ranges is

A)1:3 B) 3:1
c) V3:42 D) 1:43
Two blocks of 2 kg and 1 kg are in contact

on a frictionless table. If a force of 3 N is
applied on 2 kg block, then the force of
contact between the two blocks will be

BM5

S
A) ON
C)2N

2k
9 kg

T AT
B) 1N
D) 3N

If the linear momentum is increased
by 50%, the kinetic energy will be
increased by

A) 50% B) 100%
C) 125% D) 25%
A body of mass m, moving with a

uniform velocity of 40 ms™ collides with
another body of mass m, at rest and
then the two together begin to move
with a uniform velocity of 30 ms™. The

ratio of their masses (ﬂ) is

m2
A) 0.75 B) 0.33
C) 3 D) 1.33
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42,

43.

44,

45,

46.

s 2 T 100 . I O AR F Y @
s ? | SHi o TRa s ae | 40 ms™!

F J1 Y SR H AN TH I 78 Hehi A
2ieiAe__ we R

A) 3s B) 2s

C) 25s D) 3.5s

2141 itel Y HEE: 30° TR 45° 1 Hi0T it
3 e s g e S @ | AR A o st
T % gared foigall W @wH 3 € 8,

k1 e Hiaedi 1 aTgaT 8
A) 1:3 B) 3:1
C) V3:42 D) 1:43

2 2 BB, afit 1 e, & e T TNy
{2 o9 W ogd ° € | T 3 N 1 TF &t
o f%.0. % sArs W Tl Il 8, @ A
FEgail % sfra gush 7 8

3N;

AT T
A) ON B) 1N
C) 2N D) 3N
af% Y ST A 50% s e e A i
Sl =g e |
A) 50% B) 100%
C) 125% D) 25%
m, T AT U o8] 40 ms™! W T
T & % e ferm # Tt 5 my, et

uw g ¥ e & i S A1 30 ms
T 317 o5 T S YO & | e B

2kg

1Kkg
YA e T

ml
T AT [E] ?
A) 0.75 B) 0.33
C) 3 D) 1.33
8 PM PCB
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48.

49,

50.

In planetary motion, the angular
momentum conservation leads to the
law of

A) orbits

B) area

C) periods

D) kinetic energy

Two wires A and B have the same
length and area of cross section. But
Young's modulus of A is two times the
Young's modulus of B. Then the ratio
of force constant of A to that of B is

A) 1
B) 2

o )%
D) V2

The equation of motion of a particle
executing Simple Harmonic Motion is
a + 16n2x = 0. In this equation, a is the
linear acceleration in ms2 of the particle
at a displacement x in metre. The time
period in simple harmonic motion is

1
A) 78
1

B —
) 55
C) 1s
D) 2s

The average kinetic energy of a gas

molecule is

A) proportional to pressure of gas

B) inversely proportional to volume of
gas

C) inversely proportional to absolute
temperature of gas

D) proportional to absolute temperature
of gas
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47. @nvela 1 J Fviy @ g

48.

49,

50.

& T ae ugea ® |

A) e

B) &=

C) mfy

D) nfem &=t
a‘rmﬁAaﬂIBaﬁﬁiaﬁ?egxmmaﬂ

BTG THH 8, Wg A 1 37 0 B & o
TOTIeh T SR € | A A % o foradies @ B

% o Forraieh = aTTa @

A) 1

B) 2

o %

D) V2

A =g T TN A T 0l fy
1 Gl a + 1672 = 0 } | 36 gl
o e 7 x fewfia gt w o o e @ g,

ms2H } | o7& s i o sty R
A) %S
B) %s
C) 1s
D) 2s
T g <10 1 aftem Ties i 2
A) T < a1 < HHTgAT
B) 4 % 1rra & Yepurard
C) e % ot AT & ST
D) ra & gol arowme & Twrgard
8 PM PCB
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e

52.

53.

54.

55,

56.

CHEMISTRY

Co-ordination number of Fe in
[Fe(C,0,),)k-is

A) 6 B) 4
C)3 D) 2
Square planar complex of the type

MABXL (where A, B, X, L are unidentate)
shows isomers.

A) two trans and one cis
B) two cis and one trans
C) three trans

D) three cis

is structure of XeOF,.
A) Square planar

B) Pyramidal

C) Square Pyramidal

D) Planar Pyramidal

Ferrimagnetism is shown by
A) CrQ, B) MnO
C) CuCi, D) Fe,O,

P,+3NaOH +3H,0 - PH, + A where
product A is
A) NaH,PO, B) NaHPO,

C) NaH,PO, D) NaH,PO,

Chlorine reacts with to give
bleaching powder (Ca(OCl),).

A) CaCO,

B) Ca (HCOQO,),

C) Ca(OH),

D) CaO

51.

52.

83.

54,

55.

56.

A e ’
[Fe(C,0,),P~# Fe # TH-=<a &1 ¢
A) 6 B) 4
C) 3 D) 2
MABXL (&l A, B, X, L 37gaee ¥ ) TR [
o ol T s AR T
T g \
A) 2 @ R o fow g
B) < Rra st e g !
C) @ g™
D) @ fam
XeOF, ) wt=1 8
A) T TR 5‘
B) frfew |
C) =i ffies
D) =R friiiea
eHedeshi (Faafesn) 3o gr1 fe@mn
T 2
A) CrO, B) MnO
C) CuCl, D) Fe,0, :
P,+ 3NaOH + 3H,0 — PH, + A Sl

IR AR \
A) NaH,PO, B) NaHPO,
C) NaH,PO, D) NaH,PO,

FAN = gry ARfsR U sEifEm
IR (Ca(OCl),) @ &l

A) CaCoO, g
B) Ca (HCO,), |
C) Ca(OH),

D) CaO

|
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feét

57. In Deacon’s process, catalyst used is

58.

59.

60.

61.

62.

A) CuCl
C) FeCl,

B) CuCl,
D) FeCl,

Tear gas among the following is
A) CClI, B) CCi,NO,
C) COCl, D) CH.CI

is an example for

molecular solid.
A) SiO,
C) CaF,

B} ZnS
D) SO,

The green manganate is
A) Antiferromagnetic

B) Ferromagnetic

C) Diamagnetic

D) Paramagnetic

According to Dalton’s law of partial
pressure, total pressure p, ., =

A) Py+(p5=P;)xz
B) b} +(p; —P})x,
C) P, +(py-P})
D) b, xz+(p5 - )%,

The value of Van't Hoff factor ‘i’ for
ethanoic acid in benzene is nearly

A) 1.0
B) 1.5
C) 0.5
D) 1.21
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57. fe=ia it wigran o swah Saen saw 2

58.

58.

60.

61.

62.

A) CuCl B) CuCl,

C) FeCl, D} FeCl,

fadaemgiat

A) CCl, B) CCI,NO,

C) cocl, D) CH,CI

anw),

3TITferR 319 1 3STETT B

A) SiO, B) ZnS

C) CaF, D) SO,

FUR: UC T

A} Sid-Siegeh

B) Tiregssha

C) vhigehig

D) ¥JgahE

m%mﬁmmﬁm%a&m Gl
a‘la’plcll.al

Ay Py+{P5 P} )% |
B) p;+(p;—P;)x.
C) P} Xz +(py~p})
D) p, xo +(pPy-P} )%
S5 o §9H1s uRre & Ry Iz ww Saex
P 1 T T §

A) 1.0 r

B) 1.5

C) 0.5
D) 1.21

8 PM PCB
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63.

64.

65.

66.

67.

68.

Unit of molar conductivity, ~n, is
A) Sm™ mol B) Scm? mol™*
C) Sem2 mol D) S2cm? mol™!

is suitable for hearing aids.
A) Dry cell
B) Nickel-cadmium cell
C) Mercury cell
D) Lead storage cell

Identify ‘A’ in the following reaction :
AIZOS{S)+6HCI(MJ+9H200)—> 2A( alq)+60I'(aq)
A) [AI(H20)3]2+ B) [AI(H20)6]3*
C) [AH,0)]* D) [AI(H,O)]

All natural and artificial radioactive
decay of unstable nuclei take place by
Kinetics.

A} Zero order B) First order

C) Second order D) Third order

Which noble gas does not occur in the
atmosphere ?

A) Krypton
C) Helium

B) Argon

D) Radon

In Freundlich isotherm,

Iog%= log k+ % log p, the value of nis
A) between 0 and 1

B) between 1 and 2

C) between 2 and 3

D) between 1.5 and 2.5
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63.

64.

65.

66.

67.

68.

T FATEHE A 1 TS &
A) Sm™ mol B) Scm? mol-!
C) Scm? mol D) S?cm? mol™

i Y weiF % foe swgE B
A) I 59
B) frerei-shefirm o=
C) U™ 8«
D) e erw a«

= wferfren o A’ =t wg=ni
AI203(5)+ GI-|CI(aq)+9H20m—> 2A( aq)+60[‘( )
A) [AI{H,0),]* B) [AI(H,O)**

C) [AI(H,0),]* D) [Al{H,0)]
e i F it wiepfoss s Fhm
eaae e FAfead g
B 2l

A) I FI B) wgen &ife
C) g&u Fife D) e wife
11 3o T IRgHed A 81 IR S ?
A) form B) 3mTiq

C) diierm D) Y& (Radon)

theef= (Freundlich) sTgaias
Iog%:logk+%logpﬁn?ﬁl1ﬁ[%
A) 03RS
B) 13X 2% &9
C) 23R 3=
D) 1.5 25% =
8 PM PCB
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69.

70.

71.

72,

73.

74.

The formation of micelles takes place
only above a particular temperature
called

A) Critical temperature

B) Super critical temperature
C) Kraft temperature

D) Elevated temperature

Mond process is used for refining
A) Fe B) Cu
C) Al D) Ni

Drugs that bind to the receptor site and
inhibit its natural function are called

A) agonists

B) antagonists

C) antibiotics

D) antidepressants

Antiseptic, dettol is a mixture of
chloroxylenol and

A) terpene B) tetracyclin
C) terpineol D) iodoform
Isoprene is

A) 2-methyl - 1, 3-butadiene
B) 3-methyl — 1, 2-butadiene
C) 1-methyl — 2, 3-butadiene
D) 1, 2, 3-trimethyl pentane

Water soluble vitamin is
A) Vitamin A
B) Vitamin D
C) Vitamin E
D) Vitamin C

68.

70.

71,

72,

73.

74,
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e =1 fmifr Shae o fagy a5
FI B ], 18 e S @

A) wifaes (fepfemar) womm

B) afd shifereh argam

C) T dT9uH

D) I=id A9HH

HiE WHg w1 39 356 et d S g
A) Fe B) Cu

C) Al D) Ni

Pt dmge W i arelt oIk 5 T
FTE ) AT H dTell 298 Feardl &
A) wnfie

B) wftusft (emfz)

C) wiosiieh (wdamafes) .
D) srammeuH (TifEdae)

e oo

A) T B) <grmsfaem
C) Zfiftsta D) ITsSiwm
rEEdE ®

A) 2-frermsd - 1, 3-sggreTE
B) 3-fumse- 1, 2-sqgieTsH
C) 1-fumie- 2, 3-sggrers
D) 1, 2, 3-Tghrensget 4o

gt H e faerfim @
A) frifim A '
B) faeifim D
C) ffim E
D) feafim C
8 PM PCB
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75.

76.

/72

78.

79.

80.

+ 2Nax.

This reaction takes place in presence of
A) Alkyl halide

B) Ahydrous AICl,

C) Ahytrous FeCl,

D) Dry ether

Which of the following ion in aqueous
medium has orange colour ?

A) Cr,0.* B) Cr*
C) MnO,~ D) MnO,2
Picric acid is prepared from

in presence of conc. HNO,.

A) Carboxylic acid
B) Phenol
C) Nitrobenzene

D) Benzaldehyde

Williamson's ether synthesis involves
mechanism,

B) E1
D) E2

A) §1
C) §,2
Which one of the following complex is
Diamagnetic ?
A) [Fe (CN)J*
B) [Co (C,0,),I*
C) [CoF >
D) [Mn (CN)J*

is used in electroplating.
A) Hexane dioic acid
B) Benzoic acid

C) Methanoic acid
D) Ethanoic acid
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by

X
75. 2©/ +2Na—>

76.

77.

78.

79.

80.

+ 2Nax.

g giafsran seeh ufedrfa o gt 2

A) TS 2TES

B) f=iw AIC,

C) fsia FeCl,

D) Y5 $N

Sreft e 7 e i & o anve o T A
AT ?

A) Cr,0.% B) Cr**

C) MnO,~ D) MnO,%

Tifsss o Wig HNO, i 3ufeufa #
CECGIR

A) FEifFafeh o1

B) fAta

C) e

D) Seafsass

fafermem & e dvemw & GE|

it g

A) S,1 B) E1

C) 5,2 D) E2

= 8 @ i fubde wh-gefm e ¢
A) [Fe (CN)J*

B) [Co (C,0),1*

C) [CoF J*&

D) [Mn (CN) J*-

<1 39N FeFGIA e o el B
A) T SHiTEH 3T

B) Siiigeh ol

C) BuHIgE e
D) 3uFISH

8 PM PCB
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81.

82.

83.

84,

85.

Axial angies (Edge angies) of
Tetragonal crystal system is equal to

A) a=p=90°y =120°
B) a=y =90° p=90°
C)a=p=y =90°
D) azp=y=90°

When Germanium is doped with
phosphorous is an example for

A) n-type-semiconductor
B} npn-semiconductor
C) p-type-semiconductor
D) pnp-semiconductor

To increase the solubility of CO, in
soft drinks and soda water, the botile
is sealed under

A) High temperature
B) Low pressure
C) Low temperature

D) High pressure

When blood cell is placed in a solution
containing more than 0.9% (mass/
volume) saline solution, the blood cell
will shrink due to

A) Osmosis

B) Reverse osmosis

C} Dilution

D) None of these

The standard electrode potential for
Daniel cell is 1.1V, the standard Gibbs
energy for the reaction

Zn, + Cu® A A i

A) - 212,27 KJmol-
B) +212.27 KJmol™'
C) —212.27x107 Kdmol-
D) +212.27x107 KJmoli-!

{aq) it Cu(s) =
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81.

82.

83.

84.

85.

T =Ighif et womrelt o v s (e
% V) ST SR 2

A) a=p=90°%7 = 120°

B) a=y =90° p=90°

C) o=p=y =90°

D) a=B=y=90°

I STH{TE % WY BenRy e s 8,
NI HUFHREEER

A) n-FR = AtrET

B) npn-atteTEs

C) p-¥R 1 efEH

D) pnp-sTf=remE

Hige fgea 3 digt @ § CO,Hi
Horeiiear sgM & fofe sohl Sqer &vr
T Hieteg SR ST R |

A) 3= 99EE -
B) i g
C) = arawe
D) S=a g™

Wil T IR S 0.9% & ferR (5w
I ) @R foerm 9 foemm # e s
B, 0 RN % R s S 3
A) TRET

B) I quao

C) e

D) T & 1S T

e ¥ & forw o st fave
1.1V 2 | arffmn

Zn(s) + Cu?+ e Zn? o Cu
% feru ares firew Sl

A) —212.27 KJmol-!

B) + 212.27 KJmol™

C) —212.27x107 KJmol-'

D) +212.27x107 KJmol-!
8 PM PCB
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86.

87.

88.

89.

90.

91.

A first order reaction is found to have
a rate constant, K = 5.5x10-"* s™'. The
half-life of the reaction is

A) 1.26x10"3s B) 1.26x10%s
C) 1.26x10'"s D) 3.69x10%s

In Haber's process for manufacture
of ammonia, the catalyst used for
increase the rate of reaction is

A) Copper
B) Vanadium
C) iron

D) Chromium

During concentration of ore, the
depressant used when the ore
containing ZnS and PbS is

A) NaCN B) NaCl
C) MgCl, D) HCN

Deacon'’s process is used for the
manufacture of

A) Chlorine

B) Sulphuric acid

C) Ammonia

D) Nitric acid

The structure of XeF is
A) Pyramidal

B) Distorted octahedral

C) Tetrahedral -
D) None of the above

Identify the type of isomerism
exhibited by the following complex :
[Cr(NH,),] [ Co (CN)]

A) Linkage isomerism

B) lonisation isomerism

C) Co-ordination isomerism

D) Solvate isomerism
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86

87.

88.

89.

90.

91.

| weon Hife & e ARIERE = @ o

K = 5.5x10-* s~ & | a1furfeman i arrfg &
A) 1.26x10s B) 1.26x10"s
C) 1.26x10's D) 3.69x10's

st & fwfo & fow #sw wfwan 4,
afirfr < X W™ & oI Wy SeRe ®
A) dren

B) aRfemm

C) et

D) it

ST F T & GHE ZnS 31T PbS Al
37T 3w raHET (fede) °
A) NaCN B) NaCl
C) MgCl, D) HCN

%mm%s%m 3 fafior ¥
|
s

B) Hewfw 3T
c; s
D) TEfeeh a
XeF, & T 8
A) Trufirea
B) faaifim sresivia
C) =ig=hrofa
D) 3% o & g A0
Frfafaa Dt g veiia et =
Wiﬁl‘lﬁ'ﬂ,:
[Cr{NH,).] [ Co (CN),]
A) foers smraea
B) R THEEE
C) TH-=a queaa
D) Gicae quEad
8 PM PCB
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92.

93.

94.

95.

Name the following reaction :
X R

@/+Na+HX _'5”‘_9L>©/+

NaXx

A) Wurtz—Fittig reaction
B) Wurtz reaction

C) Fittig reaction

D) Swatz reaction

Complete the following reaction :

CH,
| %
CH,— G - OH _20%HPO,
1 358K
CH,
CH,
|
A) CH,- C ~CH, +H,0
CHO

I
B) CHy— CH-CH,+ H,0
C) CH,—CH,-CH,+H,0
D) CH,=CH—CH,+H,0

O
Correct IUPAC name of Cf is
CH,

A) 1-methyl cyclohexanone
B) S5—methyl cyclohexanone
C) 2-methy! cyclohexanone

D) 2-methyl benzanone

Which of the following carboxylic acid
undergo HVZ reaction ?

A) CH,COOH
B) HCOOH
C) C,H,COOH
?I
D} C|-<I3—000H

Cl
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92.

93.

94.

95,

Frefafaa sl =t am s
X R

©/+Na+RX —EL ©/+

NaX

A) Fea-fefen aifufmn
B) T atfifsran

C) Tfen arfsifsran

D) s arfifern

Trerferiaa arfirfsran i qof Hifv;
CH,
20%H,PO,
358K

|
CH, - <|3 - OH
CH,
CH,

I
A) CH,- C -CH, +H,0
CHO

|
B) CH,~ CH-CH,+H,0

C) CH,~CH, - CH,+H,0
D) CH,=CH - CH,+H,0

A) CH,COOH

B) HCOOH

C) C,H,COOH
ci

|
D) CcI-C-COOH

I
Ci

8 PM PCB




96. Benzene sulphonyl chloride is called as
A) Lucas reagent
B) Tollen's reagent
C) Fehling’s reagent

D) Hinsberg's reagent

97. Night blindness is caused due to the
deficiency of following Vitamin.

A) Vitamin By
B) Vitamin A
C) Vitamin C
D) Vitamin E

98. When Hexametihylenediamine and
adipic acid undergo condensation
polymerisation at high pressure and
high temperature to form

A) Nylon 6, 6 B) Nylon 6
C) Terylene D) Bakelite

99. Neoprene is an example for the
following type of polymer.

A) Thermosetting polymer
B) Thermoplastic polymer
C) Fibres polymer

D) Elastomers

100. Which of the following transition element
exhibit the oxidation state of +7 ?

A) Mn B) Fe
C) Ni D) Cu

A Page No. 24

96. Sl TEHITH NS Feal 8 |
A) o RS
B) i Rusie
C) efem fsie
D) fément Resie

97. With Frefafes Refim A =ha
BT R |

A) faafim B,
B) = A
C) feifim C
D) faafim E

98, W TEETHUTEESETATE 3 Tsiis
T 39 O IR I=F aTEH W HEH

TEERFOFRE, W e |

A) T3 6, 6 B) AEA 6
C) et D) Sherse
09. i Frefaflaa wFR & Jgas H Th
FTEW § |
A) ATIgE SIECT
B) ardfia WAt Sgeieh
C) g g
D) TEREI
100. Fr= § & FH1 G T +7 1 SRR
feufa sofan & 2
A) Mn B) Fe
C) Ni D) Cu
8 PM PCB
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101.

102.

103.

104.

105.

BIOLOGY
This is the tallest flower.
A) Yucca
B) Amorphophallus

C) Vallisneria
D) Strobilanthus Kunthianus

The process in which the female gamete
undergoes development to form a new
organism without fertilization is called

A) Embryogenesis
B) Gametogenesis
C) Parthenogenesis
D) Microsporogenesis

The outer layer of the blastocyst is
called

A) Tonoplast
B) Trophoblast
C) Chorion

D)} Amnion

This is a natural method of contraception.
A} Periodic abstinence

B) Use of diaphragms

C) Use of Lippes loop

D) Sterilization

This is an example of co-dominance.
A} Flower colour in Snapdragon

B) Height of Pea plants

C) ABO blood groups

D) Eye colour in Drosophila
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101.

102.

103.

104.

105.

Seayme

I8 a1 §A R)
A) Yucca

B) Amorphophalius
C) Vallisneria

D) Strobilanthus Kunthianus

a8 wierar forad e g forn fg=m &
T 1 St 9 % fore frenm & e 2,
FHEeTdl 8

A) TETaRHIGE

B) TdeHtE

C) IraReHfag

D) HTRRaRSARE

SIRLIATSE sl STt ITd hi el STl &
A) R

B) sfirdieer (gisee)

C) Sy (i)

D) et (Tfesi)

g iRy 1 Wil o )
A) €RI-UHT W HEH
B) SHTHH 139G

C) fevag ou =t Igam
D) SeameRto

TE TB- N T IaTEWT ¢
A) FAGHTA B el 1 T

B) WX & drer hy Jed

C) ABO T W8

D) Drosophila # i@t =it a1
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1086.

107.

108.

This is not a stop codon.
A) UGA B) UAA
C) CUG D) UAG
Match the following and identify the
correct option.
i. Water hyacinth  a. Bulbil
ii. Bryophyllum b. Offset
iii. Agave c. Rhizome
iv. Ginger d. Leaf buds
A) i—-b i—d ii—a iv—C
B) i—d ii—c iii—b iv—a
C)i-c i—d iii—a iv—b
D) i-d ii—a iii—¢ iv—Db
Match the foliowing and identify the
correct option.
i. Cretaceous a. Progymnosperms
ii. Triassic b. Therapsids
ii. Devonian c. Thecodonts
iv. Jurassic d. Gnetales
A)i-c i—d iii—b iv—a
B)i—d ii—c ii—a iv—Db
C)i—-b ii—a ii—d iv—c
D)i-c ii—a iii—b iv-d
Identify the True and False statements.

109.

a. The antibodies produced against
allergens are IgA type.

b. Difficulty in breathing is a symptom
of allergy.

c. Drugs like anti-histamine reduce the
symptoms of allergy.

d. Protected environment in early life
prevents occurrence of allergy.

A) aand b-True
¢ and d — False

B) aandc-—True
b and d —- False

C) aand d - False
b and ¢ - True

D) a and c — False
band d - True

Page No. 26
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108,

A) i B) qW
C) dsht D) usft

107. Fra ) firemd 3 gt ey At ge=niT |
i. w/@ gt a, St (Bulbil)
ii, SEhaH b. SATREE
iii. TwaE (Agave) c. F=Siw (Rhizome)
iv. 3SR d. it = sieat
A)i—-b ii—d ili—a iv—cC
B) i—-d ii—c iii—b iv—a
C)i-¢ ii-d ii—a iv-b
D)yi-d i—a iti—c iv—b
= w1 firernd, o weh fospey we=niAT |
i. Tereiing a. WRT=eE
ii. MRS b. SRMUETSEH
jii. Teafe c. dHSicy
iv, JufEe d. e (Gnetales)
A) i-c i—d iii—b iv—a
B) i—d ii—cC fi—a iv—Db
C)i-b ii—a iii—d iv—c
D)i-c ii—a iii—b iv—d
T 31 7T Y hi 9EETY |

109,

a. TETSH 3 Raeiis Ieiea ueiare! IgA TR
21

b. @@ o ¥ YR TS &1 TE R |

c. TA-femmrs S <o wesll & aaon
h! FH LA © |

d. IR st o SefEra ararer et 6l
AT ) UshaT § |

A) a 3 bTd, ¢ 3 d 7o

B) a 3R ¢ &, b 3R d e

C) a3 d e, b 3R c v

D) a 3t ¢ e, b 3R d &
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110.

111.

112,

Match the crop with its variety name and
choose the correct option.

i. Cauliflower a. Pusa swarnim
ii. Chilli b. Pusa shubra
iii. Brassica ¢. Pusa komal
iv. Cowpea d. Pusasada
bahar

A) i-b i—d iii—a iv—c
B)i~d ii—-c ili—b iv—a
C)i-c ii—a ili —d iv—b
D)i-d ii—a i — b iv—c

Bacillus thuringiensis spores are mixed
with water and sprayed to plants, which
show this action.

A) They kill the mosquitoes visiting the
plants

B) They act in the larval gut and kill
them

C) They invade the fungi and kill them

D) They get rid of the aphids harming
the crops

Match the following and choose the
correct option.

i. Bacillus
thuringiensis a. Corn borer

ii. RNA interference b. Tobacco
budworm

iii. Cry IAc gene ¢. Meloidegyne
incognitia

iv. Cry IAb gene d. Cotton boll
worms

A)i-c ii—a ii—d iv—Db

B)i—-d i—c¢ iii—a iv—Db

C)i-b ii—c jiiil—d iv—a

Dyi—-d ii—a iii—b iv—cC
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110. waa F! 39 fafie 7w @ fiem ot ad

111,

112.

Torehew o1 = ifstg )

i Tdt a. g @iy

ii. frdl b. qEIyy

i, YRyt c. @ Hie

iv. EfiEan () d. I8 ¥a1 98N
A)i-b ii—d jii—a iv—c
B)i-d ii~¢ ii-b iv-a
C)i-c ii—a ii-d iw-—b
D) i~d ii—a i —b iv—ce

v« Bacillus thuringiensis sfimogati st o=t

ot dat W fseant 9 @, @ 18 fw

TR |

A) e} 9T AT TS B AN §

B) 2 vt a1d A i e & SR I A
g

C) 3 e T FH 3¢ AR 2 &

D) o Faet i THE Tg=H a1 Uhgw &
Few e &

i 1 firend ot @t ey S
i. Bacillus
thuringiensis  a. AFs W
ii. ANATEE¥ER b, darg e
iii. 361§ JAc ST c. Meloidegyne
incognitia
iv. TS I1Ab Sf= d. HUE & Hley
A)i-c ii—a iii—d iv—b
B)i—d it —c iii—a iv—Db
C)i-b ii—c i —d iv—a
D) i-d ii—a iii—-b iv—cC
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113.

114.

This was not the reason for selection

of Drosophila melanogaster for

genetic experiments, by Thomas Hunt

Morgan.

A) They complete their life cycle in
about two weeks

B) Male and female flies were clearly
distinguishable

C) Their hereditary variations can be
seen under low power microscopes

D) Only fixed number of variations were

observed in them

Identify the correct answer for the below

given statements.
a. We experience nausea and fatigue

at high attitudes.

b. This is because of low atmospheric
pressure.

A) both (a) and (b) are true and (b} is
the correct explanation of (a)

B) both (a) and (b) are true and (b) is
not the correct explanation of (a)

C) (a) is true and (b) is false

113.

114,

gfag g2 Wi g0 gt wE |
Drosophila melanagaster % =33 1 I8
HTOT AT o7 |

A) 3 ST < gedTg B ST Sita = g0
T &

B) = 3fi ner HfRaat e w9 @ fim &

C) W TeR 3 GEAENT] o d8d ITeh! AT
reran g s vl @

D) 378 ¥aw Fifta sem # fimard 2@
T

£ o =i 1 @ d) IW gE |

a. 3= Sard i en Tl 3iiT urae wegw
= &

b. 98 ¥ SIS <o % HT Bl 8|

A) (a) 3R (b) 3 & € 3 (b), (a)
) ST

B) (a) 3 (b) A1 Wt § 3K (b), (a)
el T TE &

C) (a) wdl 2 3R (b) e B

D) both {a) and (b) are false D) (a) 3R (b) I eTa &
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115.

116.

Give one word for the following and
choose the correct option.

a. Breaking down complex organic matter
into inorganic substances by fungus.

b. Water soluble inorganic substances
get precipitated as unavailable salts.

c. Dark coloured amorphous substance
decomposes at a slow rate.

d. Further degradation of humus and
release of inorganic nutrients.

A) (a) — Mineralisation
(b) — Catabolism
(c) — Leaching
(d) = Humification
B) (a) — Catabolism
(b) — Leaching
{c) — Humification
(d) — Mineralisation
C) (a) - Leaching
(b) — Humification
(c} — Mineralisation
(d) — Catabolism
D) (a) — Humification
(b) — Mineralisation
(c) — Catabolism
(d) - Leaching

Choose the correct option for the below
given statements.

a. lllegalintroduction of Clarias gariepinus
poses threat to indiginous catffishes.

b. Passenger Pigeon gotextinctbecause
of over exploitation.

A) (a) is true but (b) is false

B) both (a) and (b) are false

C) both (a) and (b) are true and (b) is
not the correct explanation of (a)

D) both (a) and (b) are true and (b) is
the correct explanation of (a)
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b, e

=1 & o w e A ok wd fawea
g |

a. WTE g STeRTe e YTl 8 Ifed S
Tere} = e | e
w99 % w9 1§ a8fd 8 9 ) )

c. TR T & R et =9 U fufea
B &1

d. @E-E &1 3 9 EwAm Ikt
STeRIE R TiNer dedl 1 REE|

A) (a) —@F=
(b) — 1=
{c) — &fifem
(d) - erfiftFrem
B) (a) — 0=
(b) — <fifam
(c) — TfifthohyM
(d) -gf=
C) (a) —=ifm
(b) — efteerym
(c) - @f=
(d) — 3T9=3
D) (a) — eMifhehyA
(b) —@fi=t
(c) — 39="
(d) - <fifzm

frefeiaa semt % fore g ey gfm)

a. Clarias gariepinus =1 3139 Wy asft
ity & foT wau B

b. tftrer Sivor 3 T T e forgga B
M|

A) (a) TE & AR (b) Tera B

B) (a) 3iR (b) i 7Tera &

C) (a) 3R (b) a1 &t & 3K (b), (a) #
T T T B

D) (a) 3R (b) 3l & € 3K (b), (a)
T TR B
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117. Give one word for the following and

identify the correct option.

a. Excessive growth of planktonic

algae

b. Floating plants with mauve coloured

flowers

c. Increase in concentration of toxicants

at successive tropic levels

d. Cutting of forest trees and burning

plant remains
A) (a) — Jhum cultivation
(b) — Algal bloom
(c) — Eichhornia crassipes
(d) — Biomagnification
B) (a) — Algal bloom
(b) — Eichhornia crassipes
(c) — Biomagnification
(d) — Jhum cultivation
C) (a) — Eichhornia crassipes
(b) — Biomagnification
(¢} — Algal bloom
(d) — Jhum cultivation
D) (a) — Biomagnification
(b) — Algal bioom
(c) — Jhum cultivation

(d) — Eichhornia crassipes
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117. fm & 90w e A o w& faeed
TEEY
a. TeTaeh % YiaTe T ST gha
b. =% ¥ 1 ¥ G & A QP
c. ®iFF s Wl & fava v #i
TRl # %
d. STt % Ut <A werd ik 8 % areE
1 STAAT
A) (a) - gA &t
(b) — FraTet i B
(c) — Eichhornia crassipes
(d) — SRR
B) (a) — T&TA 1 He1
(b) — Eichhornia crassipes
(c) — FTEHIRhTH
(d) — % Tt
C) (a) — Eichhornia crassipes
(b) — SRR
(c) — farTet 1 e
(d) —gF et
D) (a) — srIfhRTH
(b) — ST T el
(c) ~gr &
(d) — Eichhornia crassipes
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118. Identify the true and false statements.

a. In plants, the male gamete fusing
with the egg cell produces zygote.

b. The fusion of polar nuclei and gamete
is called triple fusion.

¢. Endosperm is completed consumed
by the embryo in coconut.

d. Endosperm persists in mature seed
of pea.

A) aand b —true
¢ and d — false
B) aandb - false
candd - true
C) aandc —true
b and d — false
D) aand d —true
b and c — false

119. This is the correct order of male
accessory ducts moving from inside the
testes to outside.

A) Vasa efferentia — rete testes —
epididymis — vas deferens

B) Rete testes — vasa efferentia —
epididymis — vas deferens

C) Epididymis — vas deferens — vasa
efferentia — rete testes

D) Vas deferens — epididymis — rete
testes — vasa efferentia

120. These are not the characteristics of
Down's syndrome.

a. Gynaecomastia
b. Furrowed tongue

¢. Lack of secondary sexual
characteristics

d. Short stature with small round head.
A) (a) and (c) B) (a) and (b)
C) (b)and (c)

D) (a) and (d) C) (b) 3 (c)

118. =&t o T FeF eI |

a. i 3, iRt 3 wre R g wifm
I 4T A R

b. Y=g Tifies 3R g w1 dowT fua
R5H FeamI 2

C. USren] &1 A U 10 g0 fren s 2,
< e ® B 2

d. TSreqd wex o qitges o § & et 2

A) asiRb - T
¢ 3R d — e

B) a 3R b — 7@
c 3R d —adt

C) a3ftc—o#
b 3R d — 7ol

D) a 3iRd-dd
b &R ¢ — e

119. 98 o8 Tor Afeentadl 1 et e & S guo
& 3TeT @ T H I T2 B

A) ET Ham %WW—)H&T{W -
I TR
B) STel 90T — TG Ham — A
I TR
C) SAE - 0 SHE — FmE1 G -
STTeT JH9p
D) EITG%‘ﬁH—:-Hﬁ@W—)WW—)
EiiR:cf
120. 9 < fagm = 3 fadiwand =i §)
a. TEAERfeEE
b. TsEST =™
c. Tedtas I faarett Y =t
d. SR M & F o9 S =e
A) (a) 3 (c) B) (a) 3 (b)
D) (a) 3t (d)
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121.

122.

123.

124,

Identify the incorrect statement.

A) In plant cells the vacuole can occupy
up to 80 percent of the volume of the
cell.

B) The tonoplastfacilitates the transport
of number of ions against the
concentration gradient.

C) The isolated lysosomal vesicles
contain hydrophytic enzymes such
as lipases, proteases etc.

D) Vacuole contains only water and
sap.

ldentify incorrect statement.

A) The herbicide 2, 4-D is widely used
to kill monocotyledonous plants.

B) Auxin helps in cell division in addition
to cytokinin.

C) In most situation ABA acts as an
antagonist to GAs.

D) Ethylene is a phytochormone which
is a air pollutant and also a product
of combustion.

Find the mismatched.

A) Stomach —  Alcohol
B) Small intestine -  Nutrients
C) Chylomicrons —  Liver

D) Mouth —  Drugs

The final hydrogen acceptor in the
cellular respiration is

A) NADH
B) NADPH
C) O,

D) Cytc
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A) ured =hif¥reR § fUfERrent HifTE & T
=1 90 fawra el B

B) dFeaeh Gigdl U & Gq@ A1 &
qfed Y gl s 8|

C) gersh wrgaEme i Afer & eEgesien
TITEH & TS, SRS i € €

D) ftfeRent & e et 3R @ e 2

TTeTd e qeenEY|

A) GEEIRARER 2, 4-D 7 91 T Cehsiisisli
el st 7 3 fore g < B

B) T WTSSIHEA & WY i
forrem ® eI w2

C) aftrriw feufcmi # ABA, GAs & faalia
Fd T R

D) 3Tt U TTRuEiHIA @ St Ueh a1 Ngueh
2 afit g8 o1 3 oft )

TTeTd B BT |

A) TER ~ e

B) ®idt sATd — Yy ad

C) FEemEhA ~  uFd

D) §¥ - oisfert

FIRTERE yaua § 3ifay sEgeT wewal &

A) NADH

B) NADPH

C) O,

D) Cytc
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125.

126.

127.

Identify the correct sequence based on
number of carbon in ascending order

A) Pyruvic acid < Succinic acid <
a-ketoglutaric acid < Citric acid

B) Succinic acid < a-ketoglutaric acid <
Pyruvic acid < Citric acid

C) Citric acid < a-ketoglutaric acid <
Succinic acid < Pyruvic acid

D} Pyruvic acid < a-ketoglutaric acid <
Succinic acid < Citric acid

Identify correct statement.

A) Every 100 ml of blood can deliver
around 5 ml of CO,

B) Every 100 ml of blood can deliver
around 4 ml of O,

C) There is no significant role of O, in
regulation of respiratory rhythm

D) Atthe tissue site partial pressure of
CO, is high due to catabolism as a
result CO, diffuses into blood

How many among the following is/are
correct 7

1. Limbic system reguiates sexual
behaviour along with hypothalamus

2. Thalamusis a majorcoordinating centre
fore sensory and motor signaling

3. Midbrain and hindbrain form the
brain stem

4. Medullaoblongata controls expression
of emotional reactions

5. Arachnoid is in contact with the brain
cells

A) 1,2 and 3 are correct
B) 3, 4 and 5 are correct
C) 4 and 5 are correct

D) 1,2 and 5 are correct
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A) uTsEta® rE < wfFafw ow <
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eI HYE TET |

A) T @1 s 100 fieft CO, =1 wmm
5 foeit € AeFan )

B) T =1 W% 100 firelt O, %1 wmvm
4 fireht % wepa )

C) vaer g %I fafia =1 § O, < g
Tyt Jffren 7 )

D) 3% T T AT F F9 CO,
ST a1 = S & i 3w g

&Y CO, W # fmfa & 9wt 21

frafefiaa & @ fram /fran adi & ¢

1. STaCHA 9 FIEUIMENE % Y S
R i Fafia st 8|

2. Hadt 7R Ieh Hohaa By AN T GET
Tt g R

3. 939 Aftass oI A9y uferss Aftrewan
iG]

4, Age Arsditer WG Tiafearsd wt
Frafa s 8

5. WeHise Hitrsh HRRal & e o wefi
g |

A) 1,233 ad?

B) 3,43 5Td 2

C) 4sisudt e

D) 1,23 5adt g
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128.

129.

130.

131,

132.

133.

Identify the mismatched.

A} Himgiri — Hill bunt

B) Bassica — Pusa swarnim
C) Cowpea — Pusa komal

D) Chilli — Pusa sawani
Which experiment proved that DNA

is in chromosome and replicate
semi-conservatively ?

A) Griffith Experiment
B) Taylor Experiment
C) Hershey and Chase
D) MclLeod and McCarty

ldentify mismatched.

A) Itrimester — Limbs and digits
B) Parturition — Prolactin

C) Colostrum - IgA

D) Milk glands -
Fertilization external in all except

A) Echinodermata B) Ctenophora
C) Hemichordata D) Coelenterata

Sweat glands

Which among the following has
persistent calyx ?

A) Chilli B) Tomato
C) Pea D) Brinjal
Identify the incorrect among the following.

A) The large empty colourless cells in
grasses are called bulliform cells

B) Builiform cells are modified abaxial
epidermis of grasses

C) Meristematic layer that is reponsible
for cutting off vascular tissues is
called vascular cambium

D) Bulliform cells can turn flaccid due
to water stress
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TTera T ygenie |

A) fenfid - TgTel $%2 (bunt)
B) sf@m -  qErEh
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B) 3R T

C) & i

D) Il o Al

T e eeieT |

A) e - ge-RaiInfmt
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D) guufmi -  w@EE
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134.

135.

136.

137.

Match the following.
i. Glandular epithelium 1. ear wax

ii. Exocrine glands 2. fat
iii. Adipose tissue 3. salivary
gland
iv. Ciliated 4. hormones
5. fallopian
tube
A)i-3 i—-4 ii-2 iv-5
B)i-5 i-2 iji—-1 wv-3
C)i-3 ii—-1 ii—-2 iv-5
D)i-5 ii-4 iji-2 iv-3

Identify the incorrect among the
following.

A) There are 8 ankle bones and 7 wrist
bones

B) Each coxal bones is formed by the
fusion of 3 bones

C) 8™, gh 10" ribs are vertebrochondral
they donot articulate with sternum
directly

D) The number of cervical vertebrae
are seven in almost all mammals
including human beings

Water potential for a solution at
atmospheric pressure is

A) greater than 1

B) equalto 1

C) equal to solute potential
D) pressure potential

Appearance of about 62% of parental
types in a dihybrid cross is due to the
presence of genes on

A) same chromosome but closely
packed

B) same chromosome distantly located
C) different chromosomes

D) distantly on same chromosomes or
on different chromosomes

Page No. 35

134,

135.

136.

137.

Freferfiaa i firemsu |
i. Ul ufrefiferam 1. S HT A
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A)i-3 ii-4 i-2 iv-5
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138.

139.

140.

141,

142.

Non-motile spores and gametes are
found in the members of

A) Rhodophyceae
B) Chlorophyceae
C) Pheophyceae

D) Cyanophyceae

During DNA replication for the
polymerisation DNA nucleotides energy
is provided by

A) RNA nucleotides

B) DNA nucleotides

C) DNA polymerase

D) ATPase

Diplontic life cycle found in
A) Polysiphonia

B) Ectocarpus

C) Chlamydomonas

D) Fucus

Bundle sheath cell of C4 plants perform

A) Cyclic photophosphorylation only

B) Non-cyclic photophosphorylation
only

C) Both cyclic and non-cyclic
photophosphoryiations

D) Neither cyclic nor non cyclic
photophosphorylations

Presence of Radula and Hemocyanins
are the characteristic features of the
phylum

A) Arthropoda

B) Mollusca

C) Echinodermata

D) Platyhelminthes

138.

139.

140.

141.

e sfemy] IR IR % T
o 9@ £ |

A) VS

B) FIIwETEE!

C) iErErgHt

D) @TAHIEEl

e uf ferfiermo R dee fFaaress

g & fore S LRSS
T TR

A) RNA =JfFasfierss
B) DNA =ffiatiess
C) DNA TS

D) ATPase

wiftsfar=r__ dumsman® |

A) diehamshiie

B) Uaihd

C) TAHES IS

D) w4

C4 TIeHt Y YeT=sE iR FKdl &

A) ThE TG HIETE IR AT

B) M =shta Vel Siedre st 71

C) =hi 7R TR-<3h WehIefia Hieaite 5ol
il

D) 7 & =hi A & TR-sha Yl
Lt Ticaui

142, TzEn SR darea Y Suffa-wEem i
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143,

144.

145.

146.

Identify the class of fungi considering
the following characteristics.

. Aseptate and coenocytic mycelium

ii. Production of aplanospores

iil. Formation of zygospores

iv. Aquatic/saprophytic/parasitic,
habitats

A) Ascomycetes

B) Basidiomycetes

C) Phycomycetes

D) Deuteromycetes

Which of the following is not the part of
endomembrane systems ?

A) Golgi complex

B) Endoplasmic reticulum
C) Lysosome

D) Mitochondria

Muitiple fission is a type reproduction in
case of

A) Bacteria
B) Paramecium
C) Amoeba
D) Euglena

Colourblindness is a allosomal recessive
gene disorder. Human males are more
susceptible to this disease because

A) Alleles controlling normal colour
vision is located on Y-chromosome

B) Alleles controlling normal colourvision
is located on 21#-chromosome

C) Alleles controlling normal colour
vision is located on X-chromosome
which is single in males

D) Human males wear cooling glasses
more than females as a part of
fashion
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Identify the wrong statement from the
following.

A) Snails and fish go into aestivation to
avoid summer related problems.

B) Zooplankton species in lakes and
ponds enter in to diapauses.

C) Small animals have larger surface
area relative to their volume,
therefore smaller animals are rare
in polar region.

D) Thick cuticle and stomata in deep
pits are the hydrophytic adaptations
of certain plants.

Which of the following is not a
characteristics of pBR 322 ?

A) Origin of replication
B) Selectable markers

C) Multiple recognition site for a
restriction endonuclease

D) Rop codes for a protein for the
replication of plasmid

Foul odours secretes by some plants
which attracts

A) Bees
B) Flies and beetles
C) Birds
D) Moths

Which of the following is not salient
feature of genetic code ?

A) Codons are nearly universal
B) Codons are degenerate

C) AUG has dual functional, it is an
initiator codon

D) Codons are ambiguous
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Answer Key for 8 PM PCB (A)
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